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1 Nulyw pnpw /hung' 583, gpnuid” 3.5/ 38.500 28.8750 1 hunp
<< npwd << npwd
2 | Nulyw pnpw /hung’ 583, gpuwd” 3.7/ 40.700 30.525 1 huip
<< npud << npuid
3 | Aulyw pnpw /hwpg’ 583, gpud’ 2.5/ - 27.500 20.625 1 hunp
<< npud L& npwd
4 Nulyw plting /hunpq’ 583, qpuid” 2.1/ 23.100 17.325 1 hunp
<< npuad << npuid
5 Nulyw plbing /hupg' 583, qpud’ 9.1/ 100.100 75.075 | 1T hup
‘ << ppud << npud
6 Nulyw plbng /hwpq’ 583, gnwd' 9.5/ 104.500 78.375 1 hunp
) << npuwd << npwd
7 Nulyw dwpwitth /hwpg' 583, gpwd’ 2.7/ 29.700 22.275 1 huip
<& npwid <L npuwd
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<& npwd << npud
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11 Nulyw Jwypwbh /hwpg' 583, gpwd’ 1.5/ 16.500 12.375 1 hunp
<< npuwd << npwd
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« L& npuwd << npwid
14 Nulyw Swypwtih /hupg' 583, gpud” 3.2/ 35.200 26.400
<< npuwid I<q
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<< npwd <L npuwd
16 Nulyw Ynynt /hwpq’ 583, gnud” 2.0/ 22.000 16.500 1 hunp
- &L npwd << npud
17 Nulyw Ynynt /hwpg'’ 583, qpud” 0.1/~ 1.100 825 1 hunp
: << npwd << npwd
18 Nulyw Ynynt /hwpg' 583, gpud” 0.8/ 8.800 6.600 1 hunp
<< npwid << npwd
19 Nulyw Ynynt /hwng' 583, gpud” 0.4/ 4.400 3.300 1 hunp
<< npwd <L npwd
20 Nulyw Ynynk /hwpqg' 583, gpwd’ 0.8/ 8.800 6.600 1 hwp
<< npwd << ppuwid
21 Nulyw Ynynt /hwipg’ 583, qpud’ 1.2/ 13.200 9.900 1 hunp
<L npwd << npwd :
22 Nulyw Ynynt /hwpg’ 583, gpusd” 0.8/ 8.800 6.600 1 hunp
<< npwd << ppwd
23 Nulyw fuws /hwpg' 583, gnwd” 1.0/ 11.000 8.250 1 huip
<< npwd << npwd
24 Nulyw fuws /hung' 583, gpuwd” 0.9/ 9.900 7.425 1 hunp
- ' << npwd << npwd
25 Nulyicr fuws /hupg' 583, gpuwd” 0.5/ . 5.500 4.125 © T hup
, . << npwd << npwd ~
26 | Nulyw fuws /hupg' 958, gpuid” 1.8/ 19.800 14.850 1 hwip
<< npuid << ppwd
27 | Nulyw fuws /hung’ 583, qpuad™ 1.5/ 16.500 12.375 1 hug
<< npwd << npuwid
28 Nulyw fuws /hung' 583, gpuwd’ 0.9/ 9.900 7.425 1 hunp
<L npwd <y )
29 Nulyw fuws /hupg' 583, gnud” 0.8/ 8.800 6.600 1 hunp
<< npwd <L npwd
30 | Nulyw puws /hung’ 583, gpuns 2.1/ ~23.100 17.325 1 hup
' << npwd << npwd
31 Nulyw owpnnt /hwpg' 583, qpud’ 0.8/ 8.800 6.600 1 hunp
<< npud <L npwd
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